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PAPER -1
GENERAL STUDIES & GENERAL KNOWLEIjGE
. (Total 200 Marks)
(Total 48 Question)
Unit - I ' (75 Marks)
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Note: Attempt all questions. Answer the following queséions in 15 words each. Each question carries

2 marks.
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1.  Name any four out of six orthodox schools of Indian Vedic Philosophy.
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2. What is Ravanhatha?
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4. Highlight the role of Aruna Asaf Ali in the Quit India Movement.
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5.  Where did Leonardo de Vinci paint his famous painting “The Last Supper’?
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Note: Attempt all questions. Answer the following questions in 50 words each. Each question carries

5 marks.
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6.  Examine the salient features of Raj Singh style of temple architecture.
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8. Write a short note on the integration of Sirohi in ‘United Rajasthan’.
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9. Critically €xamine the Begun Peasant
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Movement of Rajasthan,
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10. Discuss the ideological backoround of American War of Independence
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12. Discuss in bnef e growth of the ideology of Theosophists in the Theosophical society in
India.
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13. Discuss the development of ‘Indigenous’ industri n India during the Second World War
%ﬁuﬁsﬂga%%ﬂﬂa#ésﬁ'mﬁ%ﬁmwﬁﬁéﬂmaﬁl '

i fim 23 (1535-ys) 3 —HTT 2

W‘]’%jdlﬁr JATH =7
. : e gy

0.5(Zero’%2)
(Q.Unit-1-C-13)

H 0.5(Zero’z)
[ :BLJ;J’ ' ’ - . (Q.Unit-1-C-13)
< : g. Wﬁ_ # %T ) -
778\ [
| LN



Jooiddd D))

Lol

AR v

Paper-I 13
EWTHT(Q’WTT b () 3
S dol 1 el |
] ' _3- r q )
7 gl H O * UjT.é ﬁl‘izdl-?’ ] Wg)“ 42]
N N fa)
(= e TR AT B T e e
9 N KX /) Q b : :
SUMIST 4?1_3’2( IH-ﬂ'#rH F -Ul“(“fg’!ﬂ‘#ﬁﬁﬂ
Y Va : ' x
Sttt 71 92 - 1’7 ALT-AZ HI3A T
I AT Awbee no
L., ;: UT3T A3%TL 3{7?%:!_
I : ' A5 e
14.  “Industrial Revolutior; was not only a technological revolution, but a sbcio-gconomic

revolution also, that changed the way people lived afterwards.” Discuss.
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5. Define sustainable development.

Wﬁwrﬁfs‘rqﬁwﬁfﬁaaﬁﬁm

~ N0 9 9 n 9
T AT A2y

n 9 A ; P
ey 4pqn‘%ﬁF3T—ﬁ;nr7nw7*“‘

Z5E - ;nﬁs—ﬁvqr(wajj

2(Two)

(Q.Unit-2-A-4)

1.5(0One’%)



- !

!
%
:Jl
[
IDRNARRNNE
Paper-I 16 \[
ol gt i 1(One)
UN©B '79— U7 Hdaq lq}’ﬁ—ﬁj—q il LT (Q,(Unit—Z-A-5)
- —
—
Part-B Marks
T — § 3]3;}
Note:  Attempt all questions. Answer the following questions in 50 words each. Each question Cﬁni}
5 marks. o
w%%ﬁ%w%ﬁwuﬁmwsa-sowﬁél T T B 5 oo PR
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8. What incentives are provided under Pradhan Mantri Rojgar Protsahan Yojana (PMRPY) for
employers to create new employment in the country?
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9.  Explain the main features of Rajasthan Investment Promotion Scheme 2019,
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12. Describe Chief Minister’s 7 Point Programine for Empowerment of Women in Rajasthan.
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4. Define political corruption.
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‘Write five major problems of tribal community of Rajasthan.
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5. Why Zero Base Budgeting was adopted by Government of India?
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